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7 + 6 =13 So I exchanged ten  of 

the ones for a ten and put the 

remaining 3 in the ones column. 

Do I need to 

exchange? 

I can’t do 3-6. So I need to exchange a ten for 10 ones.  

I now have 13-6= 7. I’ve now got 4 tens left. 

Write 3 of your own to practise 

Write 3 of your own to practise 

Do I need to 

exchange? 



 

 5 6 x 3 = 1 6 8    5 6 x 3 = 1 6 8   
 5 0 x 3 = 1 5 0  or  5 6         

  6 x 3 =  1 8   x  3         

            1 8 (6  x 3)      
           1 5 0 (5 0 x 3)     

           1 6 8         
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 6 9 ÷ 3 = 2 3    8 8 ÷ 4 =       
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 9 3 ÷ 3 =      8 6 ÷ 2 =       
                      

                      
                      

                      
                      

                      

                      
                      

                      
                      

                      

I don’t know 69 ÷ 3 so I’ve split it into the TENS and 

ONES. I can now use my times tables knowledge to 

solve it. 

Partition the number into TENS and 

ONES, work out the subtotals and then 

add them together. 

First multiply the ones, then 

multiply the tens. Make 

sure you put these subtotals 

in the correct place value 

column. Then add them 

together. 


